Subject: Re: operation with array of NaNs
Posted by Jean H. on Wed, 31 Jan 2007 23:10:02 GMT

View Forum Message <> Reply to Message

don't use n_elements on the result of where, but the counter IN where...

a=[1,2,3]
b = where(a eq 10, counter)

print, b ==>-1
print, n_elements(b) ==> 1
print, counter ==> 0

Jean

inardello@odu.edu wrote:

> Hello there,

>

> | am quite new to IDL and found an interesting problem.

>

> | have an array of elements (5x5).

> All the elements in the array are NaN(s).

>

> When | ask what is the number of locations (n_elements) where the
> elements of this array are e.g.: "finite", the answer is "1".

>

> If the array contains 1 finite elements (and the rest is Nan(s)), the
> answer to the same question is still "1".

> |f the array contains 2 finite elements, the answer to the same

> question is (finally..) "2".

>> From there we progress normally.

So why can't | have an answer "0" when the array is only filled with
NaNs?

The same problem appears with other forms of analysis of the same
array. For example, "what is the number of elements greater than 10?"
The answer is still "1"

Thank you for your comments.

[->

VVVVVVVYVVYVYVYV

Subject: Re: operation with array of NaNs
Posted by news.gwest.net on Wed, 31 Jan 2007 23:17:31 GMT

Page 1 of 4 ---- Cenerated from conp. |l ang. i dl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=5815
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=24009&goto=52436#msg_52436
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=52436
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=5526
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

View Forum Message <> Reply to Message

<inardello@odu.edu> wrote in message
news:1170284491.683686.134280@a3492000cwb.googlegroups.com.. .
Hello there,

| am quite new to IDL and found an interesting problem.

All the elements in the array are NaN(s).

When | ask what is the number of locations (n_elements) where the

>

>

>

>

> | have an array of elements (5x5).

>

>

>

> elements of this array are e.g.: "finite", the answer is "1".

| think you want total(), instead of N_elements().
IDL> print,total(finite(['values.f_nan,!values.f_nan]))

0.000000

Cheers,

bob

Subject: Re: operation with array of NaNs
Posted by jschwab@gmail.com on Thu, 01 Feb 2007 01:06:12 GMT

View Forum Message <> Reply to Message

Just to summarize what has already been said.
WHERE returns a list of indicies. So if you do,
IDL> print, where( [2, 3, 5, 7] eq 5)

2

If you do,

IDL> print, where( [2, 3,5, 7] gt 4)

2 3

Page 2 of 4 ---- Generated from conp. |l ang. i dl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=24009&goto=52437#msg_52437
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=52437
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=5940
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=24009&goto=52432#msg_52432
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=52432
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

But if you do,

IDL> print, where( [2, 3, 5, 7] It 0)

-1

In the case that the condition inside the WHERE is never satisfied,
IDL returns -1

And when you call, n_elements on the returned value of -1, you
rightfully get 1.

As others have said, IDL will store the number of times the condition
was satisfied in the variable name that you put after the condition in
the WHERE.

So you do,

IDL> void = where( [2, 3, 5, 7] It O, count)
IDL> print, count

0
And there is the anticipated value of O.

Using a count variable is a good practice when subscripting with the
result of WHERE.

Instead of
my_new_array= my_old_array[ where( my_old_array gt foo) ]
Do

new_indicies = where( my_old_array gt foo, count)
if count gt 0 then my_new_array = my_old_array[new_indicies]

| guarantee you that will save you a headache at somepoint.

Josiah

When you use the where statement and the condition is NEVER met, IDL
returns -1.

This is one

On Jan 31, 6:01 pm, inarde...@odu.edu wrote:

> Hello there,

>
> | am quite new to IDL and found an interesting problem.
>
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| have an array of elements (5x5).
All the elements in the array are NaN(s).

When | ask what is the number of locations (n_elements) where the
elements of this array are e.g.: "finite", the answer is "1".

>
>
>
>
>
>
> |f the array contains 1 finite elements (and the rest is Nan(s)), the
> answer to the same question is still "1".

> |f the array contains 2 finite elements, the answer to the same

> question is (finally..) "2".

>

>> From there we progress normally.

So why can't | have an answer "0" when the array is only filled with
NaNs?

The same problem appears with other forms of analysis of the same
array. For example, "what is the number of elements greater than 10?"
The answer is still "1"

Thank you for your comments.

VVVVVVYVVYVYVYV

[->

Subject: Re: operation with array of NaNs
Posted by jschwab@gmail.com on Thu, 01 Feb 2007 01:07:27 GMT

View Forum Message <> Reply to Message

Ignore that bit of extraneous text at the end. A cut/paste gone bad.

Josiah

Subject: Re: operation with array of NaNs
Posted by inardello on Thu, 01 Feb 2007 14:43:19 GMT

View Forum Message <> Reply to Message

Thank you all.
H)

| know what to do, now.

|->
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